g, = sin Ty * 9= SN 33,662° * 432,71 = 239,85
g, = COS Ty * g~ Sin 56,338° * 432,71 = 360,15

_ . - 909,33 _
030, " 4? = 360,15

g,= g, =23980

Probe GrundmaBe

600
0y tan oy , | 723989

tan o

h_=tan o * g = tan 35° » 239,85 = 167,94

_ 3606
9a3 " cos 33,662° Profil 25°

0., = 239,85 *4{2" =339.20 . ﬁ“

| . 23985 _ |
1= lopa™ = oe = 2028

= 432,11

1600° lspa = % - 30738

oG = tan %2% 00" g = — :3221;12 = 464,16
0= tan’ 23%79%% - 18249 1oy = — 5532329 = 536,30
0= tan 1163729;41 - 2120 gt — ;13221;2 = 464,16
o= tan BLO4 - ogagr |, = —3992) - 474 499

339,20 - cos 26,341°
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